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QUESTION 1

You have data originating from different sources and the data is not structured the same way. You need to combine the
data from those heterogeneous sources into integrated, consistent, and unambiguous information so you can discover
the relationships of the data.

Which Oracle Big Data Connector should you use?

A. Oracle R Advanced Analytics for Hadoop

B. Oracle Big Data Spatial and Graph

C. Oracle Non-relational Data Integrator

D. Oracle SQL Connector for Hadoop Distributed File System

Correct Answer: D

QUESTION 2

Which different types of network communication protocols does Hadoop use?
A. Hadoop UDP, Direct TCP/IP, and HTTP

B. Hadoop TCP, Direct TCP/IP, and RPC

C. Hadoop RPC, Direct TCP/IP, and HTTP

D. Hadoop UDP, Direct TCP/IP, and HTTPS

Correct Answer: A

QUESTION 3

In which use case Event Hub Cloud Service (Apache Kafka) CANNOT be used?
A. as a data pipeline solution for big data

B. for Data Integration for streaming data

C. as a relational data store

D. for application development with micro services

Correct Answer: A

QUESTION 4

Which methods of Kafka deployment on Oracle Cloud does NOT provide SSH access?
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A. Oracle Event Hub Cloud Service Dedicated associated with Big Data Cloud
B. Oracle Event Hub Cloud Service (Multi Tenant Version)

C. Oracle Event Hub Cloud Service-Dedicated (Kafka as a service)

D. Customer installed Kafka on Oracle Cloud Infrastructure

Correct Answer: B

QUESTION 5

Oracle Event Hub Cloud Service is supported by many of the Oracle Cloud platforms. Which two are options of where
you can deploy Event Hub Cloud Service (Apache Kafka)?

A. in Oracle Public Cloud Data centers

B. in Azure data centers

C. in Rackspace data centers

D. in AWS or Azure data centers

E. in the Customer\\'s on-premises data centers
Correct Answer: AE

Reference: https://cloud.oracle.com/en_US/event-hub/features
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